Q and K For the reaction N,O,(g) = 2 NO,(g), a reaction mixture at a certain

temperature initially contains both N,O4 and NO, in their standard states (see the
definition of standard state in Section 6.9). If K, = 0.15, which statement is true of the

reaction mixture before any reaction occurs?

(a) Q = K, the reaction is at equilibrium. Q=(PNO,(PN,O,)=(1)2/1=1
Q>K, so PNO, needs to |

(b) Q < K; the reaction will proceed to the right. and P N O, needs to 1

; e e To reach equilibrium (Q = K)
(c) Q > K, the reaction will proceed to the left. Which is & Shift fo the LRS!



Andrew M. Napper
Q = (P NO₂)²/(P N₂O₄) = (1)² / 1 = 1
Q > K, so P NO₂ needs to ↓
and P N₂O₄ needs to ↑
To reach equilibrium (Q = K)
Which is a shift to the LHS!

Andrew M. Napper
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